
Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplicare per potenze di dieci ( numero mancante
)

6, 069 × ________ = 60.69 2, 039 × ________ = 2039

10, 326 × ________ = 10326 10, 339 × ________ = 1033.9

10, 076 × ________ = 10076 4, 752 × ________ = 4752

5, 456 × ________ = 54.56 3, 816 × ________ = 3816

7, 672 × ________ = 767.2 7, 017 × ________ = 701.7

10, 257 × ________ = 10257 7, 162 × ________ = 71.62

1, 755 × ________ = 175.5 6, 227 × ________ = 622.7

6, 979 × ________ = 6979 2, 977 × ________ = 2977

10, 422 × ________ = 104.22 7, 575 × ________ = 757.5

7, 07 × ________ = 7070 2, 265 × ________ = 22.65
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Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplicare per potenze di dieci ( numero mancante
)

6, 069 × 10 = 60.69 2, 039 × 1000 = 2039

10, 326 × 1000 = 10326 10, 339 × 100 = 1033.9

10, 076 × 1000 = 10076 4, 752 × 1000 = 4752

5, 456 × 10 = 54.56 3, 816 × 1000 = 3816

7, 672 × 100 = 767.2 7, 017 × 100 = 701.7

10, 257 × 1000 = 10257 7, 162 × 10 = 71.62

1, 755 × 100 = 175.5 6, 227 × 100 = 622.7

6, 979 × 1000 = 6979 2, 977 × 1000 = 2977

10, 422 × 10 = 104.22 7, 575 × 100 = 757.5

7, 07 × 1000 = 7070 2, 265 × 10 = 22.65
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